LG EEARAF
KTETHE S RIRE S
HenEEERREEDUOAE

L T E RR T oK, R RGBS RS, &5E8TE
NP EERARITIR AR AR (CUR AR “@EmT” O L ERAT RO AR
A (BURERR “HRERAT” ) i —3, BrEeEIERAR (LR FER
“ARpTT ) PRAEH20245E 11 H 19 EE, R T H 00 e AR A 0 B ) B
I EXERTRIE S, HRIER S S NG R EH . R B & 4 s b
BAEIE OIS FEE AR AR BATIET . ARG BT SRIE S A
HAREOATT

— W8I RESHBHHIT

feegz FAIE 180 22 5 BT IAATEACIE T BUR B Gk i . R @LAR 50 22
Sy TP R BOIE SR B FE Ik G L 22 1H AR RHEAE & TG R B 5 %
B SO B RS 6 (QDTT) | B2 5 & 3 X O U BGIE IR 3% B 2k I i 3t

~

8

=\ W& I RELSEBRBHER

1. AR R AU R I S A B R 55 3%, KR S A WA R 2R . FEHR
P B WSR2, (RS RS0 Bk 4 B 7 P R S IR 55 T 1, B A 36
BN EF BT RN AR I B, T AR ) B 4 B 7 bR B IR 5%
W, RN CREESMA. T REEEMHE

2  SRILE MBI B BT, BT
TR I A S M PUFE . SRS 12K
A SJHE G A 5 G A B — B

B4 TR B4R HEHEAN
te7z FAE1SOETRH R T 022646 FBARAT

SRR, BRI S0 HUR
e BinSE e M BEHE S 2 H




ez GNP A SOETFBE 2 1 022654 HWARAT

e fE A RHEETR AR A (QDTT) 1 022647 o EARAT
35 4 5 (BTREEE) 1 022653 HRARAT

SN SRS
(1) T G BRI 3 H
(2) T REE AU 1A I8z [m] 2R e R
e G AR Y R AR () B ] B THENFE S0 7= LL A3

Y<TR 1. 5% 100%
TREE G A0
YZTR 0 /
(3) TSHE G AR B B M 55 9%

RIS MBI ERS RERERN 0.10%. HEMRS T MR A

H=EX0.10%+ Z4E R

H 9 | RIS At H R TH 3 R4 5 iR 55 2

E ISR G 03 AT — H 154 B8 71 H

4, HBIE A H20244F 1L 190, SHRISRIES MBI R E ., i
FE A A BEk 5. Horr, B2 GARBOETFIR I RIL S Al He2e a4}
FETFRERCE: (QDIT) [REES M AT Al ol 55 . AUEH B # K,

5. TRIELGHuE H 1 S LY

RIS M EH SN AR AR A BT FE. B EIELAL
W] 3l A A AT

. EE&ER. TEDUNBHAR

2 5EETEANDE B, AXFRENEEER . STEBN P T
RIS A FEGE NG SER IREEIE T Sk G SEPris R IR HL I N &
BTN B REEE . FEE D E2024F 11 19 H AR &FEEH
SIS F e i BORMBE B I 90k SO I R AR e 2 o R ) A kAT
VAR



=, BEERR

1o WU T R EmBl. BB HAEEEN. BEENE N A S
LPRIEEREOUEIT B e & R FCE I, AR EERI e e A TR
258 o

2. PEH T LG A AT WS (www. huaan, com. cn) BRI % /7 IR 5% L%
(40088-50099) & HIAHRAZ B o

RS HE R : B B ARE LAWSEAE T B i 5 1 S 0 A B RS T i 4
Bre, HARIERES —EmF], WARIERIRILE . 05 T RO 5
PRGNS AR AU HBERR . OSBRI .

e

Rt A e

e B B AT IR A W
—O=E+—H+HH



